Kp,1 ARy n Kp2 AR,
homolog (M) (kcalsmol™") #) (UM)  (kcalsmol) fit model buffer  #reps
Pl 27t na -04% na 07 £ nla equivalent sites Tris 1
A1l 35+ 07 08+ 01 1.3 £ 0.2 equivalent sites TES 2
A14| 279 126 -23+ 05 1.0 £ 0.2 - - equivalent sites Tris 2
A2| 332+ 23 6414 2 £ nla 834+21 -91+11 |independentsites | Tris 2
A4l 125 £ 13 49+ 23 22 % 0.1 *x * equivalent sites Tris 2
A5 13+ 03 -14% 04 09 £ 0.1 - - equivalent sites Tris 2
Zn* | Abugal 30 % 01 -25% 02 08 * 0.1 equivalent sites | Tris 2
Adcres equivalent sites Tris 2
Adcsssicrss - - - equivalent sites Tris 2
A6 ok ok Kk ok ok Hk Tris 2
A11| 109 + 0.3 -2.0%* 041 12 = 0.1 --- --- equivalent sites Tris 2
tun Al 01+ 01 -74% 05 20 £ 01 *x ** equivalent sites TES 2
tunB| 26 £+ nla 82 t na 11 £ nla equivalent sites TES 1
Pl 17+ 08 -24% 03 21 % 01 *x ** equivalent sites TES 2
A1 TES 2
A14| 11+ 03 52+ 02 15 £ 0.2 - --- equivalent sites TES 2
A2 *k *k 2 + n/a *k *% ok TES 2
A4 wx ok 2 % nla wox wx o TES 2
Cu®* A5| 12 % 01 -36% 02 12t 0.1 equivalentsites | TES 2
Adpizal 29 + 12 -43+ 06 1.1 + 14 equivalent sites | TES 2
A5ces| 6.4 % 02 -31+ 01 09 £ 041 equivalent sites TES 2
cassicres| 2.4 = 06 -26 % 0.2 12 £ 041 - - equivalent sites TES 2
A6 19+ 05 -36+ 03 08 % 0.1 equivalent sites TES 2
A1 21+ 01 54+ 02 24 + 01 --- --- equivalent sites TES 2
Catt tunA| 01 %01 95+ 16 21 £ 02 * w equivalent sites | TES 2
tunB| 1.6 £ 0.3 246 +86 18 + 0.2 16+03 -133+61 equivalent sites TES 2




